6 | ) | L d? 3 | 2 | 1

Artikel-Nr. . d1 d3|d&4| 11|12 |13 |Federdruck (Anfang)|Federdruck (Ende)
SToxxDarts Variante d2 mm
p mm mm|mm{mm|mm|mm N N
d1 05000614001 | mit Kontermutter | 6 [M12x15[17| - | 8 |20 |43 12 27
05000614002 | mit Kontermutter | 8 [M16x15(17|20| 10 | 22 | 48 12 35
05000614003 [ohen Konfermutter| 6 |M12x15[17| - | 8 |20 |43 12 21
] 05000614004 |ohne Kontermutter| 8 [M16x15[17]20]10 {2248 12 35
2 I
d4
d3

Abdeckhtlse

13

Kontermutter ISO 8675
S | | 4
| N
‘ | ] = 1 = Raststift vorstehend
‘%I—(r — Toleranz d1 = Stift 0/-0,05 | Bohrung +0,15/+0,07
tolerance DINZ768-mk
@ STaxxparts
_..der Normteilerd
Datum Name . . " Wy
oo [ iz2020_[oenns sruced V €1TIEQElUNGSDolzen mif Schlusselbetatigung,
Raststift eingezogen
REVISION HISTORY 1
Rev. Anderungstext Anderungsdatum | Anderungsstamm Gen. 05000614000 =
Status Anderungen Datum | Name weight - | crale 21

6 I B I A 4& 3 I 2 I



